(2] stEeiEESR  Ambide

[I] ZE-ZfE Name of pa
#E

e Front Sight

Charging Handle

war

Assembly Pin

?Tﬁ%,\l : 2 EENGTERIEE Full-Auto Mode P FESTERAST SEMI-Auto Mode
ancguarci . CRICRIBSIE S8, SIS A ERIRAE) (LSS TR —4%, e BTERAE T B8 SR AE)
To enable SEMI-Auto Mode, press the Selector

3@@% To enable Full-Auto Mode, pull the Selector Switch all

Magazine Well the way out Switch down one level

mBEaHR
HEEEN Right side view of the rifle body
Magazine Release Button
B
Pistol Grip -
. ReaF:i Sight {REGAETL Safty Mode
e mEm (5 L IESE TR, B8
Piston Rod Assembly Sling Loop | 1R B (RIRAREE)
To enable Safety Mode, press the

Selector Switch all the way in

SRR

Selector Switch

BhAIE

le Attach t
I:/I:zz eCC\elavc men’ ﬁﬂ(
g Handguard Rail

RBEARE -
Left side view of the rifle body ff@
agazine

i

Trigger

SEFAM45E[E iﬁﬁﬁ M4 35E [E

)
% 6588 B A58 1 3 A SELSH 28 IR T SRE AT 56 H R HT R EARE AFLEA
A\BB3# 25/ Fill gas from bottom of magazine.

KA BRBITAIHERE, BIREAX
15 EMMBBAE & 38 A B A% A% IR5E 28 Push loading rod 6 times to fill around 21 XPRERA12kg FHf

Buttstock Assembly is Optional. Purchase Separately. ; .
Fill 6mm BBs with loader. BBs into the magazine. (R22/Green Gas)
#ONLY use R22/Green Gas




(4] 1g/EE EXPLC

wE EH BB Ef T H 2B BERE T H BB (HE
1 %85 1 | 35 | REEHE T M 1 169 | FEEEARE 4
2 |HOP UPEE-A 1 |36 |M4x7 12 | 70 | &R 1
3 | RRE 1 | 37 | PIN6X29.1 1 |71 [M4ax14 6
4 |HOP UPSi%:#42 1 |38 | EMERAES 1 |72 | BRI 2
5 |HOP UP#Ef&E# 1 139 | Me8HR 1 |73 | B&E A
6 |HOP UPEE-% 1 140 | FEBER 1 |74 | 1
7 | OBB2X1 2 | 41| ipKeEnE 1 | 75 | RAR 1
8 |M2X6+FH 3 1|42 | Blksh 1 |76 | BHEER 1
9 | NEB 1|43 | ik 1|77 |iEEH 1
10 | M2.5X12.1E {18244 1 |44 | BIiRKSEE 1 |78 | BEERR 1
11 | 15B3X2MM 1 |45 | BiERHmS 1|79 | BEE 1
12 | 5p4 1 | 46 | BRRFzE 1 |80 | REETER 1
13 Bz 1 |47 | BEERmREE 1 |81 EEd 1
14 | B 1 | 48 | EE3X15MM 1 | 82 | BEifE 1
15 | BAkitg 1 |49 | B8 1 |83 | REREE 1
16 | #2 1 |50 | & 1 | 84 | PIN1X18.5MM 1
17 | EE2ETH 1|51 | EEE fudh 1 |85 |OIE15X2 1
18 | RETEE 1 |52 |#&st 1 |86 | BRARREES 1
19 | EEEESE 1 |53 | BiHE 1 | 87 [PIN2X215 1
20 | ReEsh 1 |54 | 2B858 1 | 88 | SPIN3X14MM 1
21 | ESETHEE 1 |55 |M2.5X3(RF) 2 | 89 | PIN3X12MM 1
22 | \eWRER 1 | 56 | EHHEH 1| 90 |EHHIAR(E 1) 1
23 | BHEEINE 1 |57 |1BHmE 1|91 | ‘et 1
24 | BESER 1 |58 |HEER 1|92 | eERERER 2
25 | B89 1 |59 | 2BEHERHE 1 193 | Fi#K 1
26 | BREER 2 | 60 | HRHEESRREAIE 1 |94 L& 1
27 | i E TR 1 |61 | LEREE 1| 95 | FEAEITIRE 1
28 | PIN5X15.8 1 |62 |OIR18X15 1 | 9 | EAETIZEE 1
29 | FEHEREA A B 1 | 63 | BT AEE 1|97 | EEETH 1
30 | AEETHES 1 | 64 |PIN2X22.8MM 1 |98 [M2X5%3F 5
31 | (%) 1 | 65 | PIN2.5X20MM 1199 | FIROBOX1.5(84I0) | 1
32 | BEEE 1 | 66 | EHER) 1 1100 |08B7X1 1
33 | BH 4 | 67 |BEBM14) 1

34 \M2X5RAF(AE) | 1 | 68 | BERE 1

(4] 1B®/EE

16%

17 0

',’J
530 &
LA




(5) leRASS R’

@) | ®

JRIHER %, BRI £ T e 0Bt
Upon removal of the Assembly Pin, rotate Pistol Grip
down and forward for separation.

-
SeiS1E 5 IR EL

Remove Assembly Pin.

\
Y H FAm b HEED AT ER A

Remove the Charging Handle and the Bolt Carrier Group.

HSZHjﬁ% SeHSAB BRI A OO T A HEH
To remove the Bolt Carrier Goup, pull the Gas Piston Rod
towards to the muzzle and rotate left 90°. Then pull the
Charing Handle all the way back.

( - N

5
RERSERTTAL

Majority of the rifle is disassembled.

Hop Up 3%
Adjust Hop up.

(5]

PRfEFA12kg FL AR
(R22 / Green gas)

% RERRERER

(Never store the Magazine above 40C

[J Caution!
A PRECAUTION
NE PAS UTILISER D'AUTRES

EDEENR
(Never place it near fire)

(7 EATERE
) j (Never place it directly under sunshine)

/\ VORSICHT
Ausschiesslich fur diese Pistole bestimmte
Munition verwenden.(6.0mm Kunststoffkugeln)

PROJECTILEE QUE CEUX FOURNIS. () Fare attenzione

O o L U I A 4 5 H 85

[[] Be sure to wear shooting glasses or
Goggle when shooting.

A Toujours porter des lunettes de tir ou de protection
quand vous tirez.

/\ Zum Schiessen stets eine Schutzbrille tragen.

M Asegurese de llevar puestas las gafas de proteccion
cuando dispare.

O Assicurarsi di indossare lenti di Protezione quando
si spara

Yo S FHIRF BT A i
NSRBI i )
[] Put the gun beyond the reach of kids.
A Tenir hors de portee des enfants.
/\ Pistole immer kindersicher aufbewahren.
B Ponga la pistola fuera del alcance de los ninos.
(O Tenere fuori Dalla portata dei bambini.

Y ] PRI HEBAG
[] Don't peep at the muzzle.
A Ne jamais regarder
dans le canon.
/\ Nie in den lauf schauen.
M Jamas mire por el canon
(O Non guardare mai dentro la canna.

LENLIPNEE

[] Don't aim at people even if it is unloaded.

A Ne jamais viser quelqu'un meme si votre

pistolet est vide.

/\ Auch bei spiel-und Sportwaffen besteht
Verletzungsgefahr. Auch ungeladen nie
auf einen Menschen oder ein Tier richten!

B No apunte a personas, incluso descargado.

(O Non puntare mai verso le persone anche se la pistola
scarica.

o

S PRI T LU T
BT B

[] Don't touch the trigger until the
moment of shooting.

A Ne jamais appuyer sur la gachette le rearmement.

A Abzug erst dann beruhren,wenn Sie zum Schiessen

bereit sind.
B No toque el gatillo hasta el momento del disparo.

O Non toccare il grilletto fino al momento di sparare.

O, 5
P ol
Yo it 5 U S5 1
Sk S ANIIVE L
] After making sure that there is nobody nearby
A Toujours etre sur qu'il n y a personne dans
la trajectoire de votre ftir.
A Vergewissern Sie sich vor dem Schiessen stets,
dass niemand getroffen werden kann.
M Antes de apuntar aseguese que no hay nadie cerca.
(O Assicurarsi semper che non ci sia nessuno sulla
traiettoria di tiro.

o A EE -
L ke
[] Avoid a rough operation.
A Ne jamais jeter le pistolet
quand il est arme.
/\ Geladene Waffe stets mit Respekt
Behandin. Nicht werfen oder unsanft Jandhaben.
M No tire ni lance la pistola, se puede disparar.
(O Evitare azioni brusche.

KOEFERE R, T F 2 M e S 2 R

e AP - MRS 6T R

[] When the gun is not in use, remove

the magazine and unload BB pellets.

A Quand vous ne Iutilisez plus,bien

Faire attention de retirer le chargeur

et de le desarmer. .

/\ Zum Aufbewahren Magazin entfernen und S%‘_\

Kugeln herausnehmen.

B Cuando no se este utilzando la pistola, saque
todas las bolas.

OQuando I'arma non e in uso, estrarre il caricatore
e scaricare i pallini.

AR 0OE R kIR T AR AL FIEEFE

[ Miss handle the airsoft gun may condition serious inJure or death. Please read the safety instruction before use.



